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I.
ATTRIBUTE SAMPLING

1.
Concept:
Tests of controls are designed to provide the auditors with assurance that deviation rates do not exceed acceptable levels.

2.
Sample Size determined by:

A.
Risk of assessing control risk too low

(Acceptable Risk of overreliance - ARO)

Risk that the assessed level of control risk           based on                     is greater than the true operating effectiveness.  

B.
Tolerable deviation rate 

C.
Expected population deviation rate.  

3.
Example:

A.
5% risk of assessing control risk too low.

B.
6% tolerable deviation rate

C.
1% expected population deviation rate.

What should the sample size be?

4.
Sample Evaluation

There are three kinds of lies: lies, damned lies, and statistics.” - Benjamin Disraeli (1804-1881)

A.
If no more than 1(bracketed #) deviation is found, what can the auditor conclude?

We have 95% confidence (reliability) that the population deviation rate does not exceed 6%. 
B.
What if more than 1 deviation is found?

C.
Upper precision limit (UPL) 





(Maximum population deviation rate) 

UPL
= Sample deviation rate +/- allowance for sampling risk.

Sample deviation rate = actual # of exceptions/actual sample size


When the upper precision limit is in excess of the tolerable rate, the planned assessed level of control risk is not justified.

D.
Example: 3 deviations in the sample of 78 are found.

OPTIONS:
(1)
Use largest sample size that does not exceed sample size actually selected.


(2)
Interpolate

(3)
Use more detailed tables

Sample deviation rate = actual # of exceptions/actual sample size 

Sample deviation rate = 

Sample deviation rate

 =  

 

+ Allowance for sampling risk
 =
      

  
 ____

Upper Precision Limit          =
 

5.
Extended Example:

A.
Determine the objective

Matching receiving reports with purchase invoices-in authorizing payments for purchases of materials. 

B.
Define the deviation conditions?  

(1)
Any invoice not supported by receiving report. 

(2)
Difference between the invoice and receiving report as to quantities shipped.

C.
Define the population
(1)
Client prepares a serially numbered voucher for every purchase of materials.

(2)
Interim period--3600 vouchers--1st ten months of the year.

D.
Determine sample size
1.
5% risk of assessing control risk too low.

2.
1% expected population deviation rate.

3.
7% tolerable rate.

What is sample size?

E.
Determine the sample selection method
(1)
Vouchers are serially numbered--computer random numbers.

F.
Perform the sampling plan
G.
Evaluate the evidence -- 2 Scenarios 

(1)
1 deviation is identified.

We have 95% confidence (reliability) that the population deviation rate does not exceed 7%.

(2)
3 deviations are identified.


Upper Precision Limit               
=




Sample deviation rate 

 
     =  

  ______

Allowance for Sampling Risk


=


H.
Document the procedure
What adjustments would likely be made?

6.
Non-Statistical Sampling

A.
Sample size:  Assume--65 items.

B.
3 deviations found.

C.
Sample deviation rate = 3/65 = 4.6%

D.
Compare to tolerable rate of 9%

E.
What is the sampling risk?

Don’t know!

